|Sample Rubric 1

Score
or Level Description Example Student Responses
Points
1 No Answer or Off-Task 5““131,“ WIIES SEmE, E But -I don’t know
doesn’t angwer the guestion.
Irrelevant ideas or links ) o
Sciertifically inelevant -We think that the medicing should

2 ideas (mmisconceptions) Student’s answer includes mainly go fo the cell mernbrane . It will
OR incorrect informnation. incloge cells if any reproduce .

Soienti fically invalid
conrectorns beharesn 1deas
Partial link -We thunle that the medicine should
Trelshorated o ctioms effest the genivinls because the
usivg mlevant foatims Student gives an answer that cenluinle is the part that makes the

3 OR needs elaboration, or that would cluumcns;:-m_es from drviding. _
Sciertifically walid notbe enough to slow the cancer -Maybe this could do something
conrections fhat are not growth. harmless to the DMNA, making it
mfficiert to solve the unable to ghve instuctons for making
problam. new cells ternporanily.

single link -We think that a good cancer medicine

4 One scientifically Student gives one scientifically ?.33:1‘%3?&3;113 E?Ewﬂw spu_.ucllle E].jem

Esiﬁiﬂjézrﬂ Rlis camplets faluticn that the cells are unable fo dmride.
- The cancer medicine that stopped
cells from dividing out of control
would need to stop the cell from ghving
complete infornation to both, or only
one cell. The genihioles could be
Multiple links Student grves an answer that is f‘;::;méllﬁtﬂlia i?iiiogﬁiuf .

5 Two or more scientifically complete and that onlvone of the u:::Ells lesving the other
scientfically complete makes several connechons incgmplete Another way ;EE medicine
and valid conne chons between ideas. could stop abnormal cell division

would be to prevent the nucleus from
drviding, or chromosomes from being
copied, therefore the cells would only
get half of the information, stopping
oo much cell division.




